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28 gxena, ors 2000 rp. mo 3 °/ BH mbeann sa 91
genp, ors 5000 rp. mo 6 °/, BB whernb-TH 83
20 gema, ors 10000 rp. mo 2 [, °/; Bs mbcaus-
v 3a 35 gema, ore 15000 rp. mo 3 e o/, BB
caws-T5 3a 15 xema, ors 20000 rp. mo 4 °f, BB
whcans-15 3a 3D geHa, ors 2040 rp. mo 2 e
o/, Bp MBeanb-Ts 3a 80 mena, orp 25584 mo 2
o o/, BB mbcALB-TH 32 21 peun, ors 40020 rp.
o 3 '/, °fo 35 mbcans-1H sa T gena?

PAST'HJIKYBAHIE.

Hijt moskaxme ja MOCTAIEMH U TyKa IO CA-
I[OTO IPABHAO, KOBTO H3BALUXME 32 MCYHCJASHIETO-
Ha JUXB&-TA 10 1 °/, BF wBoawb-T5 32 H3BECTHO
QiCA0 AHH, T. €., Hill MOKHMHE Aa HamBpuMu nbp-
BO JuxBara mo 1 °/; H; KOJKOTO H3JesH Aa 1 Y-
MHOKHMH Ha YCJIOBGHHA-TA auxB® 2, 3, 4, b,
6, 3y .« ..., IOIYYEHHOTO IPOHIBELE-
Hie me OXAH MCKOMATAa JHXBA.

Ho msit xaro mamara whib ¢beTOH BB TV
Ja MOKHMH KOJIKOTO € BEL3MOKHO [0 HBKBCO H
10 CKOPO Aa HCUYUCHABAMIH maxurE, To Wil mEe
OpBAAOKEMA  APYTH eAMHS CHOCO0B, KOATO € 1o
KParTpkh U IO CKOPO G BHPIUIH,

Wma Tpu HAYMHA, IO KOHTO YAGTHOTO YHCIO MO-
sku Ka. on  yroxbmsma. BB 2, 3, 4, 5, 6, 2%, T,
81, m 1. H. IATH, 2 HMEHHO: 1) Ja oA YMHOKH
YACHOTY, 30§ B b, B BB 2Yy 1 v un i ob To
mwe cx yroaxbun BH -2, 3, 4,5 ..., ... n&rH; 2)
ga ca ymuoxku gkamworo ma 2, 3, 4, 5, Qe i Jsa



